GOVT. OF JAMMU AND KASHMIR

OFFICE OF THE DISTRICT SUPERINTENDING ENGINEER

HYDRAULIC CIRCLE KUPWARA -- HEADQUARTER HANDWARA

FONT WANI AND BRORHERS.

S/O:AB.WAHEED WANT

5/0:ABUMANAGH TREHGAM KUPWARA

Registration No: 929/AAY/Civil/Sanitary)CE/KCC/PDC/2009-10.

GSTIN NO: 01ACBPW3482FZZR

Laying and Fitting of Pipe Network, Dug Well, Headworks, Intake Chambers, Chain Link Fencing, Approach Road, Chowkidar Quarter, MS Boxes for Sluice Valves, Anchor Blocks, Repairs to Existing Structures under JJM for WSS Cherkote Kanthpora B Putshal.

Ref: .

1.Minutes of the 8th meeting of Technical Appraisal Committee held on 08.02.2022, minutes

issued thereof vide CE/PHE/44620-41 dated. 12.03.2022. 2.Minutes of the 4th & 5th meeting of Apex Committee JJM J&k circulated under endorsement NO:

SMD/][M/]&K/27/2021-22/771-73,Dt. 29-09-2022

3. Accord of Administrative Approval vide Chief Engineer Kashmir PHE Deptt. Srinagar's Order No.

4. District Action Plan of District Kupwara by DIJM vide No. DDCK/Pig/JJM/4465-85 dated. 14.07.2022

5. Govt. Order No. 19-JK (JSD) of 2022 dated. 04.02.2022

6. Technical Sanction Order No. CE/PHE/DB/150 of 08/2022 dated. 25.08,2022

7.District Development Commissioner Kupwara's Authorization No. DDCK/Pig/JJM/MoM 11004-14, Dated: 13/12/2022 vide endorsement No.: DDCK/Plg/JJM/11015-31dated.

13.12.2022

Advertised cost: - Rs: 217.12 LACS Rs: 219.30 LACS Allotted cost: -

(Rupees Two Crores Nineteen lacs and Thirty Thousand Rupees Only). For and on behalf of the Lt. Governor of Jammu and Kashmir UT, contract for Laying and Fitting of Pipe Network, Dug Well, Headworks, Intake Chambers, Chain Link Fencing, Approach Road, Chowkidar Quarter, MS Boxes for Sluice Valves, Anchor Blocks, Repairs to Existing Structures under JJM for WSS Cherkote Kanthpora B Putsha is hereby fixed with you on the accepted rates by you as shown in the enclosed Annexure of this allotment. The total cost of the work will be of the order of Rs. 219.30 LACS (Rupces Two Crores Nineteen lacs and Thirty Thousand Rupees Only) on the terms and conditions as Jald down in E- NIT No: 15 of 6/2022-23 Dt. 27/06/2022 Issued under endorsement No PHEDK/1053-66 Dt: 27/06/2022 from the Executive Engineer PHE Division Kupwara shall be binding on the contractor.

		1 11-14- 1	Rate	Amount
Item Description	Quantity	Units	Hato	
Earth work in excavation by manual means in trenches for foundations, drains, pipes, cables etc. (not exceeding 1.5 min width) and for shafts, wells, cesspits and the like not exceeding 10 sqm on plan, including dressing of sides and ramming of bottoms lift upto 1.5 m, including getting out excavated earth and disposal of surplus excavated earth as directed: (1 Mtr from	*			
All sorts of soil	5932.16	CUM	436.00	2586422.00
	Earth work in excavation by manual means in trenches for foundations, drains, pipes, cables etc. (not exceeding 1.5 min width) and for shafts, wells, cesspits and the like not exceeding 10 sqm on plan, including dressing of sides and ramming of bottoms lift upto 1.5 m, including getting out excavated earth and disposal of surplus excavated earth as directed: (1 Mtr from cutting edge)	Earth work in excavation by manual means in trenches for foundations, drains, pipes, cables etc. (not exceeding 1.5 min width) and for shafts, wells, cesspits and the like not exceeding 10 sqm on plan, including dressing of sides and ramming of bottoms lift upto 1.5 m, including getting out excavated earth and disposal of surplus excavated earth as directed: (1 Mtr from cutting edge)	Earth work in excavation by manual means in trenches for foundations, drains, pipes, cables etc. (not exceeding 1.5 min width) and for shafts, wells, cesspits and the like not exceeding 10 sqm on plan, including dressing of sides and ramming of bottoms lift upto 1.5 m, including getting out excavated earth and disposal of surplus excavated earth as directed: (1 Mtr from cutting edge)	Earth work in excavation by manual means in trenches for foundations, drains, pipes, cables etc. (not exceeding 1.5 min width) and for shafts, wells, cesspits and the like not exceeding 10 sqm on plan, including dressing of sides and ramming of bottoms lift upto 1.5 m, including getting out excavated earth and disposal of surplus excavated earth as directed: (1 Mtr from cutting edge) 5932 16 CUM 436.00

Scanned by Car



First class kail wood	1.80	CUM	106894.15	192409.00
Providing hoisting and fixing trusses/purlins /rafters/posts/ post-plates or like components including cost of screws etc. complete			138685.40	970798.00
First class Budloo/Fir wood	7.00	CUM	130000.10	0,0,0
Providing and fixing panelling or panelling and glazing in panelled or panelled and glazed shutters for doors, windows and clerestory windows (Area of opening for panel inserts excluding portion inside grooves or rebates to be measured). Panelling for panelled or panelled and glazed shutters 25 mm to 40				
mm thick	12.00	SQM	2501.75	30021.00
First Class kall wood		-		
Providing and fixing panelled or panelled and glazed shutters for doors, windows and clerestory windows fixing with butt hinges of required size with necessary screws, excluding panelling which will be paid for eparately, all complete as per direction of ingineer-in-charge. (Note: -Butt hinges and ecessary screws shall be paid separately).				

Scanned by CamScan



Providing corrugated G. S. sheet roofing including vertical/curved surface fixed with polymer coated J or L hooks, boits and not Bmm diameter with bitumen and G.I limpet washers or with G.I. limpet washers filled with white lead, including a coat of approved sheel primer and two coats of approved paint on overlapping of sheets complete (upto any pitch in horizontal/vertical or curved surface)excluding the cost of purlins, rafter and trusses and including cutting to size and shape wherever required 0.53 mm thick		SOM		104898.00
with zinc coating not less than 275 gram/m2 35 Providing ridges or hips of width 60cm overall width plain G.5, sheets fixed with polymer coated J. or L hooks, bolts and nuts 8mm dia G. I. limpet and bitumen washers complete 0.63 mm thick with zinc	40.00	RM	691.75	27670.00
coating not less than 275 gram/m2 36 Providing 40x5 mm flat iron hold fasts 40 cm long including fixing to frame with 10 mm diameter bolts, nuts and wooden plugs and embeddings in cament concrete block 30×10×15 cm 1:3:6 mix. (1 cement: 3 coarse	40.00	No.	163.04	6522.00
sand : 6 graded stone 20 mm nominal size). 37 Providing and fixing plained eaves boarding.2nd class kall wood 300x40 mm (nominal size)	45.00	RM	1587.90	71455.00
38 12mm Cement plaster of mix:		SQM	286.06	181745.00
1 1.4/1 coment: 4 fine sand)	635.34	04		
39 15mm Cement plaster on the rough side of single or half brick wall of mix:	294,36	SQM	306.46	90210.00
/ 1:6 (1 cement : 6 fine sand)	284.50			
40 12mm Cement plaster of mix:	119.73	SQM	286.06	34250.00
1 1:4(1 cement: 4 coarse sand)				
41 12mm Cement plaster finished with a floating coat of neat cement of mix:	401 1R	SQM	378.13	185730.00

	Painting wood work with deluxe multi	80.00	SQM 1	25.50		2	
	required shade. Two or more coats applied @ 0.90litre/10sqm over an under coat of primer applied @ 0.75litre/10sqm of approved brand and			3890.25	040.000		-11-
48	pan (Indian type w.C. pany with the sand cast Iron P or Strap, 10 litre low level P.V. C. flushing cistorn including flush pipe (of approved make) "manually contro(led device (handle tever) conforming to 15:7231, with all fittings and fixtures complete, including cutting and making good the walls and floors wherever required. Orissa pattern witten witnesses china W C. pan of size	2.00	No.	11.25	7380.00		
49	580x440 mm with integral type foot tests. Providing and placing on terrace (at all floor levels) polyethylene water storage tank ISI: 12701 marked, with cover and suitable locking arrangement and making necessary holes for inlet, outlet and overflow pipes but without fittings and the base support for	2000.00	Litres	500.00	22500.00		
	tank Providing & fixing PVC pipe Grade B along with all PVC bends, Tees, S&P traps fittings, vent cowl, floor traps etc incl, earth work excavation refilling etc complete job	50.00	RM	1449.35	25000.0	00	
51 F	100mm/75 mm dia Providing and fixing white vitreous china Dedestal for wash basin completely Decessed at the back ,f, or the reception of	2.00	No	538.10	2899	.00	No.
52 Pr	ipes and fittings roviding and fixing C.P. brass angle value or basin maxier & geaser points of oproved make conforming to IS: 8931	4.00	No.			4.00	
53 Pro	5mm nominal bore) oviding and fixing C.P. brass bib cock of proved quality conforming to IS : 8931 (15	10.00	No.	436.50	25	365.00	
54 Pro	n nominal bore) oviding and fixing ball valve (brass) of proved quality complete 15 mm nominal	10.00	No.	2007	60	4388.00	
55 Prov	viding and fixing C.P. brass close hole	8.00	No.	220.		17661.00	
56 Provide with Concessions	make, weighing not less the make, weighing G.I. pipes complete G.I. fittings and clamps, including g and making good the walls etc paled pipe including painting with antitive hitumastic paint, cutting chases						
and ma	aking good the wall dia. nominal bore	62.00			74.21	29401.00	-
57 Providir	ng and fixing toilet paper holder (C.P.	2.00			500.00 4575.20	1000.00	
ISI 304 (1 with C.I. to mm include	ig and fixing Salem Stainless Steel A 18/8) kitchen sink as per I.S. 13983 brackets and stainless steel plug 40 ding painting of fittings and cutting and making good the walls required 610x510mm bowl depth	I/		No /	4313.20	9150.0	00

Scanned by CamScanner



Reinforced cement concrete					
suspended floors, roofs having slops upto 15°, landings, balconies, shelves, challes, intels, bands, plain window sills, staircases and spiral stair cases upto five level including curing but excluding the cost of centring, shuttering, finishing and 1:15:3 (1 center)	58.89	CUM	9408.14	554045.00	
archribs, domes, vaults shalls, folded plate and roofs having slope more than 15° upto floor five level level including curing but excluding the cost of centering, shuttering 1:12:3 (1 cement at 14)	24.94	CUM	9849.35	245643	3.00
Providing and laying damp-proof Course 50 mm thick with cement concrete 1:2:4 (1 cement:2 coarse sand: 4 graded stone aggregate 20 mm nominal size) and curing complete	17.82 40.00	SQM	10404. 409.6	185	409.00 6392.00
Making plinth protection 50mm thick of cement concrete 1:3:6 (1 cement: 3 coarse sand:6 graded stone aggregate 20 mm nominal size) over 75mm bed of dry brick ballast 40mmnominal size well rammed and consolidated and grouted with fine sand including finishing the top smooth and curing complete	64.16	SQM	545	.22	34981.00
Reinforcement for R.C.C work including straightening cutting, bending, placing in position and binding all complete, Thermo-Mechanically treated bars.	15010.00	KC	3	95.10	1427451.00
Extra for providing and mixing water proofing material in cement concrete work on doses by weight of cement as per manufacturer's specification.	220.00	K	(G	57.90	12738.00
Brick work with common burnt clay (non- modular) bricks of class designation 7.5 in oundation and plinth including curing in	14.00			6802.1	3 000004.00
ement mortar 1:6 (1 cement : 6 coarse sand)	44.00		CUW /	00UZ. I	3 / 299294.00

Scanned by CamScanner

/	Filling available excavated earth (excluding rock) in trenches, plinth, sides of feeling and layer reasons.	+/Atlottme	j .	H/8 ABDUI S/0. WALI I S/0. WALI I Registration GSTII NO: ALLOTME	Sub:-	
	rock) In trenches, plinth, sides of foundation etc. layers not exceeding 20cm in depth, consolidating each deposited to	5449.80	CUM	198.70		
	ramming and watering lead upto 50m and			190.70	1082875.00	
	sinica values at a social to Balantined	10.00				
	complete job incl. embedding in compart	10.00	No.	12000.00	120000.00	
T	70 Fabricating of bends of required degree, tees, reducers incl. walding					
	testing & commissioning cutting of pipes.					
	125 mm dla					
	il 100mm dia	2.00	No.	1500.00	3000.00	
	ili 80mm dia	14.00	No.	1400.00	19600.00	
	Dumping of stones incl, cost of stones in horizatal in level	18.00	No.	1300.00	23400.00	
1-7	horizatal in level	363.40	CUM	816,15	223909.00	
	faces, by bould faces, by bould	268.78	CUM	2073.55		
7	stones but excluding cost of		33.11.		557287.00	
1 "	Providing & fixing B.A wire crates (16'x16') 100x100mm mesh with both and	975.46	SQM	350.00		
1	proper and standard and plain as per				24444 50	
1	requirement of site & directions of Engineer In-Charge.				341411.00	
74	In-Charge.					
	Providing and fixing G.I. chain link fabric fencing of required width in mesh size 50x50 mm including strengthening with 2 mm dia wire or nuts, bults and washers as required complete as per the direction of	273.00	SQM	733.50	200245.00	
75	4 mm)					
75	Providing and fixing of Electrical points (heating and fighting) Incld. cost of wire switches, necessary MCB's switch boards, celling roses reputed make ISI mark screws, casing / conduit materials of allsorts of			-		
3	carriage and labour charges required for the Job.					
i	a. Lighting points.	20.00	No	1050.00	21000.00	
- ii	b. Heating points.	6,00	No	1400.00	8400.00	
76	Supplying and stacking at site excluding			-		
76	carriage Graded crushed stone aggregate of size 90 mm	225.00	CUM	492.75	110869.0	0
	- 45 mm	168.75	CUM	564.60		
	Graded crushed stone aggregate of size 63 mm - 45 mm	112.50	CUM	575.30	85270.0	-
iii	Graded stone aggregate atsite of size range 53mm- 22.4mm	40.50	CUM	504,40	04721.0	
iv	Stone Screening of 13.2 mm nominal size					
٧	Stone Screening of 11.2 mm nominal size	40.50	CUM	504.4		
vi	Stone Dust	40.50	CUM	258.2	5 10459.	00
77	Supply and fitting of pipe specials as per relevant IS 1239 (Part 2) specifications					
1	15 mm dia GI elbows	70.00	No.	22.0	0 1540	.00



	vill	TMT Steel	141.39 15.01	MI MT	468.17 371.28	
	ix	125 mm DI/GI pipes	124.00	Ton	14.73	
	British .	100 mm DI/GI plpes	3000.00	Ton	797.55	
L	xi	DI/GI pipes below 100 mm	114.81	RM	10000.00	•
	81	Providing and Fixing of Sign Board (8'-0" x 6'-0") with Jal Jeevan Mission Logo (1'-5" x 2'-0") at a conspicious location strictly as per sample in Annexure - 8 in Margdarshika published by ministry of Jal Shakti. Thie Sign Board shall shall be of flex type supported on 50x 50 x 6 mm ISA fixed in 1:3:6 m/x of Plain Cement concrete Blocks of Size 1'-0" x 1-0"x 2'-0"	1.00	Job		
		FIGURES				
-	1 1%(one	n) on all above items				